Practice Paper 1
Mathematics X

80 Marks

2 hours 30 minutes

SECTION A
Answer any 4 in the section A. Each carries 2 mark
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The length of a rectangle is 5more than its width. If the
area of the rectangle is 150 square unit. Form a second
degree equation .
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The numbers 2,3,4 are written in small paper pieces
and placed in a box. The fractions %, %, %are written in
another paper pieces and placed in another box. One
paper is taken from each box without looking into the
boxes. What is the probability of getting the product a
counting number?
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Find the common difference of the arithmetic sequence
v18,4/50,v/98,4/162 - - -. write its algebraic form.
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AB and CD are two chords of a circle meet outside at P.
If PA = PC then prove that the chords are equidistant
from the center of the circle
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Draw the coordinate axes and mark the points

(—1,3),(2,3). What is the distance between these points
?
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A square paper is cut along its diagonal. The pieces are
joined together to get an isoceles triangle. What are the

sides of this triangle? Calculate the area of this triangle
?

SECTION B
Answer any 4 in the section B. Each carries 3 mark
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The terms in a definite position of the arithmetic se-
quences 3,10,17--- and 63, 65,67 - - - are equal. Find the
position where the terms are equal.
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In the figure Ois the center of the circle and AB is a
chord.
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A(-3,5),B(7,5)C(4,8) are the vertices of a triangle.
What is the length of the side AB? What is the alti-
tude fromC to AB? Calculate the area of the triangle
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In the figure O is the center of the circumcircle of triangle
ABC. ZABC = 120°, AC = 12cm. Calculate the radius
of the circumcircle
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The outer square is divided into four small squares by
joining the mid points of the sides. It again divided into
four small squares, then again four squares. A fine dot is
placed at random in the figure. What is the probability
of falling the dot in the shaded region 7
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The age of a man after 15 years will be the square of his

age before 15 years

SECTION C
Answer any 10 in the section B. Each carries 4 mark
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Are the points (1, —1), (5,2), (9, 5) the vertices of a trian-
gle?Explain
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A man observes the top of a tower at an angle of elevation
30° at the distance a from the base of the tower. When
observed from the distance b from the base , the top is
viewed at the angle of elevation 60°. Prove that the height
of the tower h = \/E
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A two digit number is such that the product of the digits
is 12. When 36 is added to the number the digits inter-
change their places. Take z as the digit in one’s place,
form a second degree equation .Find the two digit num-
ber.
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Construct an equilateral triangle of height 3cm.
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The algebraic form of an arithmetic sequence is 6n + 7.
Find the expression for the sum of first n terms of this
arithmetic sequence.Using this calculate the sum of first
20terms of this arithmetic sequence. Can the sum of any
20 terms of this sequence 20177 Why?
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Do the points (3, 2), (—2, —3), (2, 3) form a triangle ?If so
name the type of triangle .

@e&osme ABCal®d AB = AC = 12eauafldlgd . eeoem
Bwjo eeoim Cwgo 30°aflmasem’. @lesosmonilon aeasal &m
E0E736, .

In triangle ABC, AB = AC = 12cm, angle B and angle
C are 30° each. Calcualte the area of the triangle .
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If a number is added to twice its square,then the number
obtained is 21. Write the second degree representation of
this situation . Find the number.
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In the figure ABCD is a square. Find the angle APD
and angle AQD.
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write  the algebraic form of the sequence
—117,-113,—-109 - - -. How many negative terms
are there in this sequence? Calculate the sum of all
negative terms of this sequence. which term is the first
positive term of this sequence?
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The first term of an arithmetic sequence is —12, sixth
term is 8. What is its common difference? Write the
algebraic form of the sequence. How many terms of this
sequence makes the sum 1207

5 QI2388 MV2RIM(EIES6Me Qleef GRTIM MILUAOW «lENSIISS
MV22IMIB0 QIRENIS. TVAIMIEOWIONG AUROTIONG MBo GRSOHANEYZ
™36

Draw an equilateral triangle of side 5cm. Construct a
square whose area equal to area of the triangle . Measure
the side of the square .

SECTION D
Answer any 4 in the section D. Each carries 5 mark
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Look at the pattern . Count the number of numbers in
each line and write it as a sequence.

Which number comes in the right end of 20 th line?
Which number comes in the beginning of 20 th line?
How many numbers are there in 20 lines? Calculate the
sum all numbers in 20 lines

26. Teauafldlad algaize 4doauafldlod oflolwgagss simgee Alesf @B
O 2IENSANM @IELAIW lENBARSS 2OQIE3 2IMIBe TIBANEHIS:.
DY LImEOTIONG 8e3 aeom’ Gemadldod dlgagmoniclesmo .
Draw a rectangle of length 7cm and breadth 4cm. Con-
struct another rectangle whose length of one side is 6cm
and having the same area of the first rectangle.
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A box contains 4black balls and 5 white balls. Another
box contains 6 black balls and 6 white balls. One ball is
taken from each box at random.

What is the probabilty of getting both balls white?
What is the probabilty of getting both balls black?
What is the probability of getting atleast one black?
What is the probabilty of getting one white and one black
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One pair opposite sides of a quadrilateral are parallel and
other sides are not parallel. Prove that this quadrilateral
is cyclic
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The sum of the areas of two squares is 468. The difference
of their perimeters is 24. find the sides of the square .
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A man observes the top of a building from the bottom
of a tower at an angle of elevation 30°. He observes the
top of the tower from the bottom of the building at an
angle of elevation 60°.If the height of the tower is 50meter,
calculate the distance between tower and the building and
the height of the building

2This paper is prepared on the first six chapters.This is not
a model paper.



